Important Instructions for the
School Principal

(Not to be printed with the question paper)

1) This question paper is strictly meant for use in school baseld Séptembef012 only.
This question paper is not to be used for any other purpose emeaponed above under
any circumstances.

2) The intellectual material contained in the question paper is the exclusive property of
Central Board of Secondary Education and no one including the user school is allowed to
publish, print or convey (by any meang)any person not authorised by the board in this
regard.

3) The School Principal is responsible for the safe custody of the question paper or any other
material sent by the Central Board of Secondary Education in connection with school
based SA, Septembkr-2012, in any form including the prhouts, compaetisc or any
other electronic form.

4) Any violation of the terms and conditions mentioned above may result in the action
criminal or civil under the applicable laws/byelaws against the offenders/desaulte

Note:

Please ensure that these instructions are not printed with the question
paper being administered to the examinees.
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General Instructions

(i)

(i)
(iii)

(iv)
(v)

(vi)

(vii)

(vii)

(ix)

The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All guestions arecompulsory .

There is no overall choice. However, internal choice has been provided in all the five
guestions of five marks category. Only one option in such questions is to be attempted.

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1to 3in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

Question numbers 4 to 7 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 8to 19in Section-A are three marks questions. These are to be answered
in about 50 words each.

Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

Question numbers 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is aone mark question. You are to select one most appropriate
response out of the four provided to you.

Page2 of 16



HIT - 3/ SECTION - A

YRIETEl =eTeh 3R Freehtd &7 & o {519 v & folw R =6 W o H 3T 1
o 3ifrehay g € 39! oM fafed |

Mention the angle between a current carrying conductor and magnetic field for
which the force experienced by this current carrying conductor placed in
magnetic field is largest ?

AR ATk IR forg # e Se et Hodt migEi & A fafed 1
Name the sensory receptors found in the nose and on the tongue ?
TreR Yet bt R s 1

Define a solar panel.

=1 arfafsran & fau dgfaa Tamfe gt fafaw) 29 St sifufwan &1 TR 2
TRt SR 38 uRefa sifs

“ugfafEm S |11 TeEe % WY AR ek gfad SERA qen Tty
stfemEe s 1"’

Write the balanced chemical equation for the following reaction and identify the

type of reaction and define it.

6l ron I 1 oxi de reacts wieriton aad aluminionm |
oxi ded.

=1 & Tm fafa . 2
(@) g 59 FAfem o gufed fomar s €1

(b)  THShICI |G STl ST |

(c)  uTg i & T9eh & W W foore it 21

(d) g ST S TS ATeAE T g

Name the following :

(a) A metal which is preserved in kerosene

(b) A lustrous coloured non metal

(c) A metal which can melt while kept on palm.
(d) A metal, which is a poor conductor of heat.

T 800 W Tarega &ex =1 wfafes 6 =i =remmen i €1 30 f57 @ 38 5aH ) 3.00 2
gfa gf1e *1 X O faga el =1 @ Ja St |

An electric heater rated 800 W operates 6 h/day. Find the cost of energy to
operate it for 30 days at™ 3.00 per unit.

Teh ISl ° eRd gU WIE YRETE! =Tcteh & 9’ AR JIehid &1 6l STRG T | 2
afz fow forg W a4 919 FT € 98 URER! 9w § g R fea s o a-t

R TEHI 85 Y dedT 6T TR ufEtia S 2 ST I g wif

Draw magnetic field lines produced around a current carrying straight
conductor passing through cardboard. How will the strength of the magnetic

field change, when the point where magnetic field is to be determined, is moved
away from the straight wire carrying constant current ? Justify your answer.
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11.

et T ot T 1 urg, s o fagE o)l § TN @6 S R, ) ST qI8Et ARt
T Goit =re feu # aga T fRan S € @ s9eRt 30 el 81 S g | 56 39
Tere o W BRSNS 119 Fafed i Sl © a1 I8 gA: 379 T I UH H Al 81 39
& T I SR W 9 991 o I I

(i) 3 1 1 91 k1ol ga1e 1 9 fafed |

(i) = IA fufransti & qomEtTe Tt fafew |

A reddish brown coloured metal, used in electrical wires, when powdered and
heated strongly in an open china dish, its colour turns black. When hydrogen
gas is passed over this black substance, it regains its original colour. Based or
the above information answer the following questions.

(1) Name the metal and the black cdoured substance formed.
(i) Write balanced chemical equations for both the reactions.

(@) T U G AfAfsmar s Semter i S emad ¥ )

(b) = Afufsran B U= IR STI=e &1 g |
H,S Cl,- 2HCI- S

() IO 9T ugrdi il Afue T d% ol WH W IHR WIE SR T
ufafida =i &1 st 82 39 sk &1 fafed) 8 I w1 T 3SuE

fafa |
(a) Give an example for a combination reaction which is exothermic.
(b) Identify the oxidising agent, reducing agent in the following reaction.

H,S Cl,- 2HCI- S

(c) Name the phenomenon due to which the taste and smell of oily food
changes when kept for a long time in open. Suggest one method to
prevent it.

(@) UF ari = w= Am e S § S fF o B erfies s e €1 396
Toh 3eTeXYl Sift |

(b) <A TRT ¥R e % pH AF ¥ Traf-a 7 38 fFT TR k1 ST Ahell ©2

() U UYAFE! o Sk U o IR T2 i 21 7 S a0l T W A Fie
T ¥ WM it foerar 872

(a) Write the name given to bases that are highly soluble in water ? Give an
example.

(b) How is tooth decay related to pH ? How can it be prevented ?

(©) Why does bee sting cause pain and irritation ? Rubbing of baking soda
on the sting area gives relief. How ?

(@ I H ST W HAAREE G A IR Y a1 © 2

(b)  AfeRier onge AEfeer 3t & WY fRan i W eEeeH 19 T8 Scoe S |
i ?

()  3TRA i 99 & A1 srfuferan o1 geieRor fafad iR ume e1era & Aifites o
M fafEw

(a) Why is calcium starts floating when added to water ?

(b) Most of the metals do not give hydrogen while reacting with nitric acid.
Why ?

(© Write equation for the reaction of iron with steam. Name the compound
of iron obtained.
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12.

13.

14.

15.

16.

(@)  TEshA % 4GS q9T 6o & ar 1 falie 10N §1 9 wfady forg
YR gREfad B afg
(i) hael TS <hl &1 AT Y feam SIme
(iiy  herel =A™ I 1A R T ST ? 379 ST bl Y =hifr |

(by  faza ardta afeqal & ag fggsT & i aam S €2

(a) Nichrome wire of length | and radius &dhas resistance of 10N. How
would the resistance of the wire change when :
(1) Only length of the wire is doubled ?

(i) Only diameter of the wire is double d ? Justify your answer.
(b) Why element of electrical heating devices are made up of alloys ?

5N, 10N 3T 15N & i gfedierss 9oft sa & Seht 30V 1 9 ¥ e fou s €1
ity # artey IR dicediex &l off SISl S €1 39 uRueY w1 foad SAd | 10N
giatiEe 9 Yaifed 911 a9 59 T o o= f99&m=R &1 91 91 it |

Three resistors of 5 N, 10 N and 15 N are connected in series and the
combination is connected to battery of 30V. Ammeter and voltmeter are
connected in the circuit. Draw a circuit diagram to connect all the devices in
proper correct order. What is the current flowing and potential differe nce
across10N resistance?

foret forera aftaer < safavmor o1 s arcod 82 =e) aRue § 59 <1 weeifea svreil 9
ATTIRY 81 Hehel § ¢ GOSRd | T T 9uemed 99 oF 9 =i 9wy &
TR | ST ST Hehell 7 |

What is meant by overloading of an electrical circuit ? Explain two possible
causes due to which overloading may occur in household circuit ? Explain one
precaution that should be taken to avoid the overloading of domestic electric
circuit.

(@ ot grn wmengd o eveian SToen 9roor foRd YehR UTe e |

(b)y T fafse fF sma uy) fafwars € iR o9 fheh ie) &t &gi= &1 Rl 9
3G A H SR % FHR (T S0 €1 319 9 36 9] % o 96y I
o ATY I SRR 1 GAE A 2 STIT ST HR Higd AT |

(a) Explain with the help of diagram, how amoeba takes its nutrition.

(b) Assume that you are a veterinary surgeon and you had removed a good
length of the small intestine of a bear that was suffering from a intestinal

tumor. Now, would you suggest a plant based or an mait based diet for
the bear after its recovery ? Give reason for your answer.

() ATk % 39 9N 1 W fafeae S fafea = €
() U= fad (i)  erifesd fpamd

(b)  URefT a1 a1 &1 F1 HEA §2 39 AlR T & rEEl s A fafad
3R 3% 39T & o4 fadeT Fifew |

(a) Name the part of brain which control s
0] voluntary action,
(i) involuntary action.

(b) What is the significance of the peripheral nervous system ? Name the
components of this nervous system and distinguish between the origin
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17.

18.

19.

20.

of the two.

TR hi Hfshal sl TS % T T ooy &t same Hifie iR awesd
fo =g =i St €72

Describe an activity to illustrate the phenomenon of phototropism and explain
why does this occur.

T AT R Foht 1 AGe o sAed | 39k 39 < Y@ s1aai o fafed
ST ER et F 3T 1 AIYHH 9@ & | SR YohTd Ty |

Draw schematic labeled diagram of box type solar cooker.
Name two components of solar cooker which are responsible to increase the
temperature inside the solar cooker. Explain their function.

Y-qM ol h! GHSEY | 39 ToOgd Soil oM o AT fhd YR Uga fohan ST dehal
g2

Explain geothermal energy. How can it be harnessed to produce electrical
energy ?

(@ T WA A IR BH I A Uk AR H A < 3oae Gl § 3R B TH
ST TR AT T |
() AR BF T T Ol ST Y Thid HEl B 2
iy A 3R B3I I 9 Aifik 1 g fafed
(b) ST %k STIER B Mg Cl, 3 1] i T THAR |
(Mg ! OHTY] &1 12 991 Cl i 17 §)
() T FHRU T fr difedq FaRgs THaw e Taeen | & ¥R Yoifed war § ?
(d) Hifean FARES T ToHiE 3= i § 2

(a) In the formation of compound between two atoms A and B, A loses two
electrons and B gains one electron.
0] What is the nature of bond between A and B ?
(i) Suggest the formula of the compound formed between A and B.
(b) On similar lines explai n the formation of Mg C |, molecule.

(©) Common salt conducts electricity only in the molten state. Why ?
(d) Why is melting point of NaC | high ?

3{gaT / OR

(@  MgO ¥ Mg 9T & o T hTeld I AI=THE o &9 H GAN I Ta1 fhal 5T
Tehdl ?

(b)y Tifaa difeaq FREe ¥ Aifesm fvg YRy f&ar < €2 29 a9l
aAtufsran =1 HHteRto fafET |

()  HIW FT 3HF TohEs 37%F A T YR Feheivr fopan San €2 eafufemanadi
o Gl fafed |

(a) Carbon cannot be used as reducing agent to obtain Mg from MgO.
Why ?

(b) How is sodium obtained from molten sodium chloride ? Give equation
of the reactions.
(© How is copper obtained from its sulphide ore ? Give equations of the
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21.

22.

@)

(b)

(©)

@)

(b)
(©)

@)
(b)

(©)
(@)
(b)

(©)
@)

(b)

(©)

@)

reactions.

3T 3T IS W 519 a1 1 ST Xd € 39 M a1l TR iR &R
W fafed | 36 @ F TEEies M SR 97 fafed a9 39 e E[ w@
™ fafed wel @ 9% 9mE 2§

Gfel 79 ford ed €2 3o 1 fafed iR g «rur & =g 39 31 &1 2@
¢ ae fafed

FT 2T & ST T S (S1EH) ¥ fagy e et €7 39k fore qamafie
iRt fafad |

Identify the acid and the base whose combination forms the common salt
that you use in your fo od. Write its formula and chemical name of th is
salt. Name the source from where it is obtained.

What is rock salt ? Mention its colour and th e reason due to which it has
this colour.

What happens when electricity is passed through brine ? Write the
chemical equation for it.

3{YaT / OR

Yo HieT (ST drer) w1 THEfie 71 AR g7 fafad |

70 Hifeaq FoRES ¥ fhe YR wH a7 89 drelt stfafshan o1 TEmfe
FHteRLoT S |

T8 T o190 1 hed © 2 39T Tk 3uanT fafed |

Write the chemical name and chemical formula of washing soda.

How is it obtained from sodium chloride ? Give equations of the
reactions.

Why it is called a basic salt ? Give its any one use.

= <3 u1% 9 9fqly &1 99 1 Hifsa |

T | A—

<
=

H’; PR e e,
 Z

2
’ [EREIE Y]
TH 220 VH @A H 5 A 90 & 1 & faw 176 N gfaler & fohaq
gfeRIEeRl 1 IIvd A H ST g ?
forga wifea =t afkam S wifem, faverR iR gfady § ey wenfua
FifTT |

Calculate the resistance of the wire using the graph.
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23.

(b)
(©)

@)

(b)
(©)
@)

(b)
(©)

@)
(b)

(@)
(b)

e
—

Current (A)

Y

0 2 4
Potential difference (V)
How many 176 N resistors in parallel are required to carry 5A on a 220 V
line ?
Define electric power. Derive relation between power, potential
difference and resistance.

37aTr / OR

T 9= Ry, Ry, Ry 1 TR ¥ H il M1 3R WM Hl Th o2,
aTieR, dicedier $iR et ¥ el a1 39 uikue o1 fos aad | g4 &
I Ufae 1 STk Fcd hifT |

forega arcell o o) T g § SR TeeiSH qdn AR F=i 9 Bl © ?
‘T TS 1 SATAAIH 5 AT | TH U T T AIE © 2

Three resistors R, R, and Rz are connected in parallel and the

combination is connected to battery, ammeter, voltmeter and key. Draw
suitable circuit diagram. Obtain an expression for the effective
resistance of thecombination of resistors in parallel.

Why are electric bulbs filled with chemically inactive nitrogen or argon ?
What is meant by the statement that the rating of a fuse in a circuit is
5A?

forega graen i IRoT it gy fafes | 5
< Fefeal P SR SH Th & T % R W AU T | FHeclt P H 5l
3R il T Sirel 79 § SR Seet ST e § Sl T |
39 o 1 3tad fost sEd iR st Dayor fafed s
()  Fecl PH FHeil Hl F< Hlh ¥R YRET FH S B |
(i)  Fect PH ORI AR Yaifed &l S S
iy  Fecl PH 9N Foll Wit 5 HT o oIl & |

TH Y&l o hRYT THEEA |
Define electromagnetic induction ?
Two coils P and S are wound over the same iron core. Coil P is
connected to battery and key and the coil S is connected to
galvanometer. Draw a suitable diagram of this arrangement and write
your observations when :
0] Current in the coil P is started by closing the key.
(i) Current continues to flow in coil P.

(i) Current in coil P is stopped by removing the key.
Explain the reason for such observations.
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24,

25.

26.

3reram / OR
() TH SE J=F & 91 AR T &3 il |
(b)  TIKIT & @IS o N I[N I FRAT HIfST |
(c) &fas R @ed # o)y 4d ¥ ufvew fown § yerfed @ W@ ¥ 39S S A=
frdt forg W Tk & =1 fown ==& erft 2 39 fem =l fafes 5w 59
feafq o greria &= w1 fewm 9@ at T

(a) Draw magnetic fiel d lines around bar magnet.

(b) Explain any two properties of magnetic field lines.

(©) A current through a horizontal power line flows in east to west direction.
What is the direction of magnetic field at a point directly below it ? State
the rule which is used to find the direction of magnetic field in this case.

A 25T 1 e Fod oY 3R 39 R = 9l & 9 Aifea s

(@) %A 19 9T S fostiai=iTa ®feR =l 7vg ik el fshreran €

(b) % TR Afeehl 51 35 § Sifadisa SR o S 2 |

() % TR afgent S faetierdisia TR sl TR & et wmm @ w6t ® |

Draw the diagram of sectional view of human heart and on it name and label

the following parts :

(a) The chamber of the heart that pumps out de-oxygenated blood.

(b) The blood vessel that carries away oxygenated blood from the heart.

(c) The blood vessel that receives deoxygenated blood from the lower part
of our body.

37aT / OR

(@)  UFE YEEd a1 fod 9 3R g s e vl ot Amiferd nifeig
GG, YAEHAI, et whIel

(b) YIS A% h UG BUHH H T 1 TARE AT @A HT T Y 7?2
BEEIECH

(a) Draw the human respiratory system and label the following & lung,
bronchi, alveolar.

(b) During breathing cycle what is the advantage of residual volume of air
in lungs ? Explain.

HIT - &/ SECTION -B

STel e Tthe % foneeadl bl T fora ST & o1 o1 3Ty HI LT BT R

(@ (b) [ (cp @ d =
When ferrous sulphate crystals are heated, the colour of the residue formed is:
(a) red (b) brown (© orange (d) green

Teh ARt H foT 99 =1 &1 39 A ol 5| 39H fR-oR 51 sen ) e g
T Y&t e fopar T ?

(@) TWHR e iR faerem ™ &

(b)y i favm eaft = IR faeram 321 & )

() TwHR e iR faerm 31 & )
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27.

28.

29.

30.

(d) i faRm et = o faeram ™ g T

A small amount of quick lime is taken in a beaker. Water is added slowly to the
beaker. Which of the following observations were noted ?

(a) Hissing sound and the solution becomes hot

(b) No characteristic sound and solution turns cold

(© Hissing sound and the solution becomes cold.

(d) No characteristic sound and the solution becomes hot.

T A H pH fgu e W 39 fgu o1 31 o 81 T, 9% A 2 9l © 1
(@ dINaOH foera (b)y it &1 AE
(c)  dIHCI foerm (d) @I NaHCO 5 faeraa

The cdour of pH strip turned red when it was dipped in a sample. The sample
could be :

(a) dilute NaOH solution (b) tap water
(c) dilute H Cl solution (d) dilute NaHCO 3 solution
Rt faeras =1 pH A 910 A ot 92 fafy 2 1

(a) faeram &1 weaeet § m & 3R pH TR *1 S Ay SgfEd &

(b)  pH TR R & & o= &l e |

(c) foe@a o pH TR B |

(d) pH TR W R & T[T FS 9 S0 |

The correct method of finding pH of solution isto :

(a) heat the solution in the test tube and expose the pH paper to the vapours
formed.

(b) pour solution from the test tube on pH paper

(© drop the pH paper into the solution
(d) add a drop of solution on the pH paper using a dropper.

31 Amferd st | SR 1| § AR 10 mL HCI 3R 10 mL NaOH faerm foad w3 1
T H & HE P AIHE R Sh B TH e R gg Jaror foma e o

(@ o H € aidar 9 19 et €1

(b) S| H g o § feherd § W 11 H T

(c)  sheRX|l B g digar ¥ freherdt & T | H 7 |

(d) I H A R A of g T2 feperdt

10 mL of HCIl and 10 mL of NaOH solutio ns are taken in two separate beakers
labelled | and Il respectively. On adding Zinc granules to both, it is observed
that at room temperature

(a) Gas is evolved vigorously in both

(b) Gas is evolved vigorously in beaker | and not in the beaker II

(© Gas is evolved vigorously in beaker Il but not in the beaker |
(d) No gas is evolved in either of the two beakers

AR FI Tk T2 e &l Th iR § ren T f599 SR gcthe &1 faea= a1 15 1
e o a1 Fid Al R T 3] a8 T AU o

(@) TN T (by BUE M

(c) e Tg (d) vadd
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31.

32.

33.

A new iron nail is placed in a beaker containing aqueous copper sulphate
solution. When the nail is taken out after 15 minutes, its surface is coated with
(a) reddish deposit (b) greenish deposit

(©) black deposit (d) white deposit

TR TS 1 Zhel HIR Tothe & faorad & een ™11 $s 959 & e faeaq &
1 gfafdd & T

(@) Bk oL 9 Hten (b)y AT TR

(c) Bk & 9 TR d ATz

A piece of granulated Zn was dropped into copper sulphate solution. After
some time the colour of solution changed from

(a) light green to blue (b) blue to colourless
(©) light green to colourless (d) blue to green

2A IRER & foRdt ot § $a U9M 107 @R 5 v IRER & dicedier § Hd 20 U9M
g1 5@ fre aftay 6t ot A o F W TR H Tedie 8 F JuF iR et
1 wgdieh off 8 UFT W § ol Ufekierer o1 ufeie @

O,
AAA—
R
®
| £
|| P
(@  1.25N () 2N (c)  0.75N (d 15N

The number of division in ammeter of range 2A is 10 and voltmeter of range
5V is 20. When the switch ofthe circuit given below is closed, ammeter reading
is at 8h division and voltmeter reading is at 8t divisions. The value of resistance
of resistor is d

O,
AAA—
R
®
| XN
|| A
(@  1.25N () 2N (c)  0.75N (d 15N

3m % from & e |y g fa o/ e odifae afty afved @ fer wmn
AMTATE :

(@ fawerR (b) &M@

(c)  dYAM (d)  fa9arR, 9r, q™
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34.

35.

I n Ohmdés | aw exper i me nduantitieshmaichpshare ga kepa
constant while doing experiment is /are :

(a) potential difference (b) current

(©) temperature (d) potential difference, current, temperature

W o W 1 YA QY SAT-3T TiaEE Ry, Ry (Rp>R,) 91 3¥eh1 901 /A |
Sire R T a1 yde & fau faver oiR g § e wien e (S e '

fe@mn T ?)

THEHA, B, C

@ Ry Ry

(b) Ro, Ry

(© Ry, Ry,

(d) Ry R

Ohmés | aw experiment is performed|Re

[R1>R,] and series combination of Ry, R,. Graph is plotted between potential

difference (V) and current (I) as shown in figure for each case:
ldentify which one is for Ry, R, and combination of resistors ?

In the graph A, B and C respectively represents

(@ Ry, R, and series combination
(b) series combination, Ry, Ry
(©) R,, Ry and series combination
(d) series combination, Ry, Ry

@ I, G 1,0 (©) [ (d) |
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